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%RGL�6DQWRVR���2NN\�3HEUL\DQL���
���7HNQLN�,QIRUPDWLND��)DNXOWDV�7HNQLN��8QLYHUVLWDV�3DPXODQJ��7DQJHUDQJ�6HODWDQ�

(�PDLO����RGLVDQWRVR#JPDLO�FRP�
�

�
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�

0HPSHODMDUL�GRD�KDULDQ�PHUXSDNDQ�VDODK�VDWX�NHJLDWDQ�SHPEHODMDUDQ�DQDN�SDGD�XVLD�GLQL��6HSHUWL�

NLWD�NHWDKXL�DGD�EHUEDJDL�PDFDP�EXNX�SHPEHODMDUDQ�PHQJHQDL�GRD�KDULDQ��QDPXQ�LVL�GDUL�EXNX�WHUVHEXW�

WLGDN�EHUVLIDW�LQWHUDNWLI�GDQ�PHQDULN��8QWXN�PHPEDQJNLWNDQ�PRWLYDVL�PLQDW�EHODMDU�DQDN�XVLD�GLQL�WHUKDGDS�

GRD�KDULDQ�SHUOX�GLNHPEDQJNDQ�VXDWX�PHWRGH�SHPEHODMDUDQ�\DQJ�PHQDULN�GLPDQDSXQ�GDQ�NDSDQSXQ�PHUHND�

EHUDGD� WDQSD� KDUXV� PHPEDZD� EXNX� WHQWDQJ� GRD� KDULDQ� DWDX� WLGDN� KDUXV� PHQJKDELVNDQ� EDQ\DN� ZDNWX�
EHUGLDP�GLUL�GL�GHSDQ�VHEXDK�ODSWRS�GDQ�SHUVRQDO�NRPSXWHU��8QWXN�PHQJDWDVL�PDVDODK�WHUVHEXW��PDND�SHUOX�

GLDGDNDQ�SHUEDLNDQ�SDGD�VLVWHP�\DQJ�VHGDQJ�EHUMDODQ�GHQJDQ�PHPEXDW�DSOLNDVL�SHPEHODMDUDQ�GRD�KDULDQ�

XQWXN� DQDN�XVLD� GLQL� \DQJ� GLKDUDSNDQ� GDSDW�PHQGXNXQJ�SURVHV� SHPEHODMDUDQ��0HWRGH� \DQJ�GLJXQDNDQ�

GDODP�SHQHOLWLDQ� LQL� DGDODK�6'/&� �V\VWHP�GHYHORSPHQ� OLIH� F\HOH���%HEHUDSD� WDKDSDQ� GDODP�PHWRGH� LQL�

DGDODK� DQDOLVLV� SHUDQFDQJDQ� VLVWHP� GDQ� LPSOHPHQWDVL�� 3DGD� SHQHOLWLDQ� LQL� GLEXDW� VXDWX� VLVWHP� DSOLNDVL�

EHUEDVLV�DQGURLG��VHKLQJJD�WXMXDQ�GDUL�SHPEXDWDQ�VLVWHP�LQL�DGDODK�SHPEHODMDUDQ�GRD�KDULDQ�PHQMDGL�OHELK�

HIHNWLI�GDQ�PHQDULN��+DVLO�SHQHOLWLDQ�LQL�EHUXSD�DSOLNDVL�SHPEHODMDUDQ�GRD�KDULDQ�XQWXN�DQDN�XVLD�GLQL�SDGD�

VPDUWSKRQ�EHUEDVLV�$QGURLG�\DQJ�PHQ\DMLNDQ�GRD�KDULDQ�GDODP�EHQWXN�HOHPHQ� WHNV��JDPEDU�GDQ�VXDUD�

\DQJ�GDSDW�PHQDULN�SHUKDWLDQ�DQDN���DQDN��3DGD�DSOLNDVL�LQL�MXJD�WHUGDSDW�NXLV�WHQWDQJ�GRD�KDULDQ�DQDN�\DLWX�

NXLV�SLOLKDQ�JDQGD�GDQ�NXLV�WHEDN�JDPEDU��
�

.DWD�NXQFL��$QDN��$QGURLG��'RD�+DULDQ�

�
�

��� 3(1'$+8/8$1�

3HUNHPEDQJDQ� WHNQRORJL� LQIRUPDVL� VDDW� LQL�

EHUNHPEDQJ� GHQJDQ� SHVDW�� NHUHQD� WHNQRORJL�

LQIRUPDVL� PHUXSDNDQ� WHNQRORJL� \DQJ�

PHQJJDEXQJNDQ� .RPSXWHU� GHQJDQ� MDOXU�

NRPXQLNDVL� \DQJ� EHUNHFHSDWDQ� WLQJJL� \DQJ� GDSDW�

PHPEDZD�GDWD��VXDUD�GDQ�YLGHR�

7HNQRORJL� WHUVHEXW� GHQJDQ� FHSDW�
PHPEHULNDQ�SHUXEDKDQ�EHVDU�WHUKDGDS�JD\D�KLGXS�

PDQXVLD� VDDW� LQL�� 6DODK� VDWXQ\D� DGDODK� VHPDNLQ�

EDQ\DNQ\D�SHQJJXQDDQ�VPDUWSKRQH�WHUXWDPD�\DQJ�
EHUEDVLV� DQGURLG�� .DUHQD� DQGURLG� PHUXSDNDQ�

SHUDQJNDW� EHUJHUDN� SDGD� VLVWHP� RSHUDVL� XQWXN�

WHOHSRQ� VHOXOHU� \DQJ� EHUEDVLV� OLQX[>�@��

6HODQMXWQD\D�DQGURLG�GDSDW�GLNDWDNDQ�VHEDJDL�26�

�2SHUDWLQJ�6\VWHP��0RELOH�\DQJ�WXPEXK�GLWHQJDK�

26� ODLQQ\D� \DQJ� EHUNHPEDQJ� GHZDVD� LQL�� 26�

ODLQQ\D� VHSHUWL� :LQGRZV� 0RELOH�� L�3KRQH� 26��

6\PELDQ��GDQ�PDVLK�EDQ\DN�ODJL>�@��

'LPDVD�VHNDUDQJ�LQL��EDQ\DN�NDODQJDQ�DQDN�
XVLD�GLQL�\DQJ�PHQJJXQDNDQ�VPDUWSKRQH�EHUEDVLV�

DQGURLG�XQWXN�EHUNRPXQLNDVL�GHQJDQ�RUDQJ�WXDQ\D�

DWDXSXQ�KDQ\D�VHNHGDU�KLEXUDQ��VHGDQJNDQ�DSOLNDVL�
XQWXN� SHPEHODMDUDQ� VDQJDWODK� PLQLP�� NKXVXVQ\D�

PHQJHQDL�DSOLNDVL�SHPEHODMDUDQ�GRD�KDULDQ�XQWXN�

DQDN� XVLD� GLQL�� NDUHQD� GRD� PHUXSDNDQ� KDO� \DQJ�

VDQJDW� SHQWLQJ� GDODP� NHKLGXSDQ� VHKDUL�KDUL� >�@��

GRD� MXJD� PHUXSDNDQ� LEDGDK� \DQJ� PHUHIOHNVLNDQ�

SHUPRKRQDQ� SHUWRORQJDQ� GDQ� SHQJKDUDSDQ� NDVLK�

VD\DQJ� VHRUDQJ� PDQXVLD� VHEDJDL� KDPED� GHQJDQ�

PHQXQMXNNDQ� VLNDS� EXWXK� GDQ� WLGDN� PHPLOLNL�

NXDVD�VHUWD�GD\D�XSD\D�GDQ�NHNXDWDQ��NHFXDOL�DWDV�

SHUWRORQJDQ�$OODK�6:7�>�@��

0HPSHODMDUL� GRD� KDULDQ� PHUXSDNDQ� VDODK�
VDWX� NHJLDWDQ� SHPEHODMDUDQ� DQDN� SDGD� XVLD� GLQL��

6HSHUWL� NLWD� NHWDKXL� DGD� EHUEDJDL� PDFDP� EXNX�

SHPEHODMDUDQ�PHQJHQDL�GRD�KDULDQ��QDPXQ�LVL�GDUL�
EXNX�WHUVHEXW�WLGDN�EHUVLIDW�LQWHUDNWLI�GDQ�PHQDULN��

VHKLQJJD� GDSDW� PHQXUXQNDQ� PLQDW� EHODMDU� DQDN�

XVLD� GLQL� WHUKDGDS� GRD� KDULDQ�� 8QWXN�

PHPEDQJNLWNDQ� PRWLYDVL� PLQDW� EHODMDU� WHUKDGDS�

GRD� KDULDQ� SHUOX� GLNHPEDQJNDQ� VXDWX� PHWRGH�

SHPEHODMDUDQ� \DQJ�PHQDULN� XQWXN� DQDN� XVLD� GLQL�

GLPDQDSXQ� GDQ� NDSDQSXQ� PHUHND� EHUDGD� WDQSD�

KDUXV�PHPEDZD�EXNX�WHQWDQJ�GRD�KDULDQ�DWDX�WLGDN�

KDUXV�PHQJKDELVNDQ�EDQ\DN�ZDNWX�EHUGLDP�GLUL�GL�
GHSDQ�VHEXDK�ODSWRS�GDQ�SHUVRQDO�NRPSXWHU�>�@��

%HUGDVDUNDQ� ODWDU� EHODNDQJ� GL� DWDV�

SHQJHPEDQJDQ� DSOLNDVL� SHPEHODMDUDQ� GRD� KDULDQ�
XQWXN� DQDN� XVLD� GLQL� EHUEDVLV� DQGURLG� VDQJDW�

GLSHUOXNDQ�� JXQD� PHQXQMDQJ� NHJLDWDQ�

SHPEHODMDUDQ� \DQJ�NUHDWLI�� LQRYDWLI�� GDQ�PHQDULN�
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VHUWD� PHPSHUPXGDK� SURVHV� SHPEHODMDUDQ� DQDN�

XVLD�GLQL�GDQ�PHQMDGL�PHGLD�\DQJ�FRFRN�EDJL�DQDN�

XVLD� GLQL� MDPDQ� VHNDUDQJ� >�@�� +DVLO� \DQJ�
GLKDUDSNDQ�GDUL�SHQHOLWLDQ�GDQ�SHUDQFDQJDQ�JDPH�

HGXNDVL�LQL�DGDODK�GDSDW�PHQFLSWDNDQ�VXDWX�PRGHO�

SHPEHODMDUDQ�EDUX�\DQJ�GDSDW�PHPXGDKNDQ�VLVZD�
GDODP� PHPDKDPL� SHODMDUDQ�SHODMDUDQ� \DQJ�

GLDMDUNDQ��%HEHUDSD�SHQHOLWLDQ�VHEHOXPQ\D�EDQ\DN�

PHQJHPEDQJNDQ�PHQJHQDL�DSOLNDVL�PRELOH�SKRQH�

VHEDJDL� PHGLD� SHPEHODMDUDQ� GDODP� PHPSHODMDUL�

SHQJHUWLDQ�LOPX�KDGLV�\DQJ�GLVHUWDL�GHQJDQ�KDGLVW�

SLOLKDQ�� SHQHOLWLDQ� LQL� PHQJJXQDNDQ� SHQGHNDWDQ�

SURWRW\SLQJ� >�@�� 3HQHOLWLDQ� >�@� DSOLNDVL�

SHPEHODMDUDQ� KDIDODQ� GRD� GDQ� KDGLWV� EHUEDVLV�

-�0(�\DQJ�GLEXDW�PHQJJXQDNDQ�1HWEHDQV�
�

��� 0(72'(�3(1(/,7,$1�

$QDOLVLV�VLVWHP�PHUXSDNDQ�SHQJXUDLDQ�GDUL�
VXDWX� VLVWHP� LQIRUPDVL� VHFDUD� XWXK� NHGDODP�

EDJLDQ�EDJLDQ� NRPSRQHQQ\D� GHQJDQ� PDNVXG�

XQWXN� PHQJLGHQWLILNDVLNDQ� GDQ� PHQJHYDOXDVL�
SHUPDVDODKDQ��NHVHPSDWDQ��KDPEDWDQ�\DQJ�WHUMDGL��

GDQ� NHEXWXKDQ� \DQJ� GLKDUDSNDQ� VHKLQJD� GDSDW�

GLXVXONDQ�SHUEDLNDQ��6LVWHP�\DQJ�GLXVXONDQ�SDGD�

WDKDS� SHUWDPD� DGDODK� PHQGLILQLVLNDQ�

SHUPDVDODKDQ� \DQJ� WHUMDGL�� 3HUPDVDODKDQ� \DQJ�

GLKDGDSL� GDODP� SHQHOLWLDQ� DGDODK� EDJDLPDQD�

PHPEDQWX� DQDN� XVLD� GLQL� XQWXN� PHPDKDPL� GDQ�

PHQJKDSDO�GRD�KDULDQ��

'DODP�WDKDS�LQL�WHQWDQJ�PDVDODK�VLVWHPQ\D�
\DLWX� EDQ\DNQ\D� DQDN� XVLD� GLQL� GDODP�

PHQJKDIDONDQ� GRD� KDULDQ� PDVLK� PHQJJXQDNDQ�

PHGLD� EXNX� VHKLQJJD� NXUDQJ� HIHNWLI�� 'DUL�
SHUPDVDODK� GL� DWDV� PDND� GLEXDWODK� DSOLNDVL�

SHPEHODMDUDQ� GRD� KDULDQ� XQWXN� DQDN� XVLD� GLQL�

GHQJDQ� PHQJJXQDNDQ� VPDUWSKRQH� DQGURLG� \DQJ�

GLNHPDV� GDODP�EHQWXN� HOHPHQ�� JDPEDU�� WHNV� GDQ�

VXDUD� \DQJ� GLKDUDSNDQ� GDSDW� PHPEDQWX� GDODP�

NHJLDWDQ� SHPEHODMDUDQ�� GDQ� PHQLQJNDWNDQ�

SHPDKDPDQ�DQDN�XVLD�GLQL�WHUKDGDS�GRD�KDULDQ�GDQ�

PHPEXDW�DQDN�VHPDNLQ�WHUWDULN�XQWXN�PHPSHODMDUL�

GRD�KDULDQ�VHMDN�GLQL��
3DGD� WDKDS� GHVLJQ� �SHUDQFDQJDQ��� DGDODK�

WDKDS� SHUDQFDQJDQ� VSHVLILNDVL� PHQJHQDL� VWUXNWXU�

SURJUDP��JD\D�� WDPSLODQ��GDQ�NHEXWXKDQ�PDWHULDO�
PHOLSXWL���

D�� 0HQ\XVXQ� DOXU� DSOLNDVL� \DQJ� EHUXSD�

IORZFKDUW��
E��0HUDQFDQJ�80/��

F�� 0HPEXDW�6WUXNWXU�1DYLJDVL��

G��0HUDQFDQJ�8VHU�,QWHUIDFH��

�

3HUDQFDQJDQ� $OXU� $SOLNDVL�

�)ORZFKDUW�GLDJUDP�DOXU���

�

�
*DPEDU����)ORZFKDUW�$SOLNDVL�'RD�+DULDQ�$QDN�

�

3HUDQFDQJDQ� 8QLILHG� 0RGHOOLQJ� /DQJXDJH�

�80/��

5DQFDQJ� VLVWHP� VHFDUD� XPXP� GL� ODNXNDQ�

GHQJDQ� PDNVXG� XQWXN� PHPEHULNDQ� JDPEDUDQ�

XPXP�WHQWDQJ�VLVWHP�DSOLNDVL�GRD�KDULDQ�DQDN�XVLD�

GLQL�� 5DQFDQJDQ� LQL� PHQJLGHQWLILNDVL� NRPSRQHQ�

NRPSRQHQ�VLVWHP�LQIRUPDVL�\DQJ�GL�UDQFDQJ�VHFDUD�

ULQFL��

�

8VH�&DVH�'LDJUDP�

�

�
*DPEDU����8VH�&DVH�'LDJUDP�$SOLNDVL�'RD�

+DULDQ�$QDN�

�

������$FWLYLW\�'LDJUDP�

$FWLYLW\�'LDJUDP�PHPXGDKNDQ�NLWD� GDODP�

PHPDKDPL�ODQJNDK�ODQJNDK�DOLUDQ�NHUMD��GLDJUDP�

LQL�PHPRGHONDQ�ODQJNDK�NHUMD��ZRUNIORZ���GDUL�XVH�
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FDVH� VHKLQJJD� GDSDW� GLNHWDKXL� VLDSD� \DQJ�

EHUWDQJJXQJ� MDZDE� DWDV� PDVLQJ�PDVLQJ� DNWLYLWDV�

GDQ� REMHN�REMHN� \DQJ� \DQJ� GL� JXQDNDQ� GDODP�

DOLUDQ�NHUMD��
D��$FWLYLW\�'LDJUDP�0HQX�8WDPD�

�

�
*DPEDU���� $FWLYLW\�'LDJUDP�0HQX�8WDPD�

$SOLNDVL�

�

E�� $FWLYLW\�'LDJUDP�0HQX�'RD±'RD�

�

�
*DPEDU������$FWLYLW\�'LDJUDP�0HQX�'RD�'RD�

�

F��$FWLYLW\�'LDJUDP�0HQX�.XLV�
�

�
*DPEDU���� $FWLYLW\�'LDJUDP�0HQX�.XLV�

�

G�� $FWLYLW\�'LDJUDP�0HQX�7HQWDQJ�$SOLNDVL�

�

�
*DPEDU�����$FWLYLW\�'LDJUDP�0HQX�7HQWDQJ�

$SOLNDVL�

�

H��$FWLYLW\�'LDJUDP�0HQX�.HOXDU�

�
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�
*DPEDU����$FWLYLW\�'LDJUDP�0HQX�.HOXDU�

$SOLNDVL�

�
6HTXHQFH�'LDJUDP�

�

D�� 6HTXHQFH�'LDJUDP�0HQX�'RD�
�

�
*DPEDU����6HTXHQFH�'LDJUDP�0HQX�'RD�

�
E�� 6HTXHQFH�'LDJUDP�0HQX�.XLV�

�

�
*DPEDU����6HTXHQFH�'LDJUDP�0HQX�.XLV�

�

F�� 6HTXHQFH� 'LDJUDP� 0HQX�

7HQWDQJ�

�

�
*DPEDU�����6HTXHQFH�'LDJUDP�0HQX�7HQWDQJ�

�
G�� 6HTXHQFH�'LDJUDP�0HQX�.HOXDU�

�
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�
*DPEDU�����6HTXHQFH�'LDJUDP�0HQX�.HOXDU�

�
6WUXNWXU�1DYLJDVL�

�

�
*DPEDU�����6WUXNWXU�1DYLJDVL�

�

�����3HUDQFDQJDQ�$QWDUPXND�

�

D�7DPSLODQ�0HQX�8WDPD�
�

�
*DPEDU�����7DPSLODQ�0HQX�8WDPD�$SOLNDVL�

�

E�� 7DPSLODQ�'DIWDU�'RD�

�

�
�

*DPEDU�����7DPSLODQ�'DIWDU�'RD�$SOLNDVL�

�

F�� 7DPSLODQ�'HWDLO�'RD�

�

�
�

*DPEDU�����7DPSLODQ�'HWDLO�'RD�$SOLNDVL�

�

G�� 7DPSLODQ�3LOLKDQ�0HQX�.XLV�
�

�
�

*DPEDU�����7DPSLODQ�0HQX�.XLV�

�
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H�� 7DPSLODQ�.XLV�3LOLKDQ�*DQGD�

�

�
*DPEDU�����7DPSLODQ�.XLV�3LOLKDQ�*DQGD�

�
I�� 7DPSLODQ�.XLV�7HEDN�*DPEDU�

�

�
*DPEDU�����7DPSLODQ�.XLV�7HEDN�*DPEDU�

�

J�� 7DPSLODQ�+DVLO�1LODL�.XLV�
�

�
*DPEDU����7DPSLODQ�+DVLO�1LODL�.XLV�$SOLNDVL�

�

K�� 7DPSLODQ�0HQX�7HQWDQJ�$SOLNDVL�

�

�
*DPEDU�����7DPSLODQ�0HQX�7HQWDQJ�$SOLNDVL�

�
L�� 7DPSLODQ�0HQX�.HOXDU�

�

�
*DPEDU�����7DPSLODQ�0HQX�.HOXDU�$SOLNDVL�

�

��� +$6,/�'$1�3(0%$+$6$1�

,PSOHPHQWDVL�DQWDUPXND�DNDQ�PHQDPSLONDQ�
LPSOHPHQWDVL�WDPSLODQ�GDUL�SURJUDP�DSOLNDVL�\DQJ�

GLEDQJXQ�VHVXDL�GHQJDQ�SHUDQFDQJDQQ\D��%HULNXW�

DGDODK�
LPSOHPHQWDVL� DQWDU� PXND� DSOLNDVL�

SHPEHODMDUDQ� GRD� KDULDQ� XQWXN� DQDN� XVLD� GLQL�

EHUEDVLV�DQGURLG��
D�� *DPEDU�7DPSLODQ�0HQX�8WDPD�

�
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�
�

*DPEDU�����7DPSLODQ�0HQX�WDPD�$SOLNDVL�

�

E�� 7DPSLODQ�'DIWDU�'RD�

�

�
�

*DPEDU�����7DPSLODQ�'DIWDU�'RD�

�
F�� 7DPSLODQ�'HWDLO�GRD�

�

�
�

*DPEDU�����7DPSLODQ�'HWDLO�'RD�

$SOLNDVL�

�

G�� 7DPSLODQ�3LOLKDQ�6RDO�.XLV�

�

�
�

*DPEDU�����7DPSLODQ�3LOLKDQ�.XLV�'RD�$SOLNDVL�

�

H��7DPSLODQ�6RDO�.XLV�3LOLKDQ�*DQGD�

�

�
�

*DPEDU�����7DPSLODQ�.XLV�3LOLKDQ�*DQGD�'RD�

$SOLNDVL�
�

I��7DPSLODQ�6RDO�.XLV�7HEDN�*DPEDU�

�

�
�

*DPEDU�����7DPSLODQ�.XLV�7HEDN�*DPEDU�'RD�

$SOLNDVL�

�
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J�� 7DPSLODQ�+DVLO�1LODL�.XLV�

�

�
�

*DPEDU�����7DPSLODQ�+DVLO�1LODL�'RD�$SOLNDVL�
�

K��7DPSLODQ�7HQWDQJ�

�

�
�

*DPEDU�����7DPSLODQ�7HQWDQJ�'RD�$SOLNDVL�

�
L�� 7DPSLODQ�0HQX�.HOXDU�

�

�
�

*DPEDU�����7DPSLODQ�0HQX�.HOXDU�'RD�$SOLNDVL�

�

��� .(6,038/$1�'$1�6$5$1�

.HVLPSXODQ�

SHUDQFDQJDQ� DSOLNDVL� SHPEHODMDUDQ� GRD�

KDULDQ� XQWXN� DQDN� XVLD� GLQL� EHUEDVLV� DQGURLG��

PHPEDQWX�XQWXN�PHQHUDSNDQ�SURVHV�SHPEHODMDUDQ�
GHQJDQ� FDUD� \DQJ� OHELK� EHUEHGD� \DLWX�

PHQJJXQDNDQ� VPDUWSKRQH� WDQSD� SHUOX�

PHQJJXQDNDQ�EXNX�GRD�GRD�� VHKLQJJD�SHQHUDSDQ�

SHPEHODMDUDQ� GRD� KDULDQ� WHUKDGDS� DQDN� PHQMDGL�

OHELK�SUDNWLV��

%HUGDVDUNDQ� KDVLO� SHQJXMLDQ� GDUL� EHUEDJDL�

JRORQJDQ�� PHQ\DWDNDQ� EDKZD� SHPEHODMDUDQ� GRD�

KDULDQ�XQWXN�DQDN�XVLD�GLQL�EHUEDVLV�DQGURLG��OHELK�

PHQDULN�PLQDW�DQDN�DQDN�XQWXN�EHODMDU�GRD�KDULDQ�
NDUHQD�GDODP�DSOLNDVL�GRD�KDULDQ�LQL�PHQDPSLONDQ�

ZDUQD�ZDUQD�\DQJ�FHUDK��DXGLR�GRD�VHUWD�JDPEDU�

JDPEDU�\DQJ�PHQGXNXQJ�GDUL� VHWLDS�EDFDDQ�GRD��
VHKLQJJD�SURVHV�EHODMDU�VDQJDW�PHQ\HQDQJNDQ�GDQ�

WLGDN�PHPERVDQNDQ��

$SOLNDVL� GDODP� EHQWXN� DQGURLG� LQL� WHODK�
PHQDPSLONDQ� EDQ\DNQ\D� PDWHUL� GDQ� NXLV� VRDO�

EHUEDJDL�GRD�GRD�SLOLKDQ�\DQJ�WHODK�GLSHODMDUL�DWDX�

\DQJ� GLDMDUNDQ� SDGD� XPXPQ\D�� -XJD�PHQ\DMLNDQ�

KDVLO�NXLV�VRDO�EHUXSD�QLODL��\DQJ�PHPEDQWX�DQDN�
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